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B EER

(n=226) (n=178)

XN NEERL
(n = 5450) (n=4736)
Bl 2 B 2
(n=1313) (n=4135) (n=1170) (n=3562)
FHD, % 78.8x7.2 78.1+6.9

771773 79171  77.1£71 78.4%6.8
AR Fr BRI SZ AR5, 4 46.8*+43.0 50.2+43.1
489%+42.1 46.1+43.2 51.6%*41.8 49.7+435
TUG, # 8.1+£3.7 7.4+£24
7.6+3.8 8.2+3.7 7.0£2.8 7.6%+2.3
SmiEE ST, 7 A3£1.7 41+1.1
42x1.7 44=x17 40+1.2 41x1.1
SmEASITHHE, ¥ 35%15 3.2%£1.0
3.2+1.4 3.5%1.6 3.0£1.0 3.3%1.0
B, kg 23.6£7.6 24.2£7.5
326x7.7 20747 334£73 21.2%45

85.2£5.6 84.8+6.7

7.5%x15.6

7.9£11.2 11.2+189 9.0£19.6 7.2£14.6
12.3£438 16.5£9.1

121+49 146%+44

18.9+5.6 18.3+6.2

176+4.3 258%=7.1

ZhiEl ZIiE2
(n =86) (n = 40)
B Eege B pegcs
(h=22) (n=63) (n=16) (n=24)
85.5%£5.9 83.4+9.1

84.4%£58 85.4*£56 82.1+7.8 854*6.4 845+46 85.8%£6.3 84.9+84 82.3+9.6
10.6£17.8

19.5£29.9 7.3%6.1
6.7£7.5 226+324 84£76 6.4+54
12577 15.7£6.5

16.9£9.9 16.2+12.6 11.3+49 15.0£5.6 16.2%7.1

6.2+3.4 7.1£2.2
85*6.0 5bb*x1l7 72%x24 7.0x21

4929 58%1.9
6.0£51 46*20 55*1.8 59£20

189*6.4 18.1£6.2

16546 24775 17.1+46 21.9%+6.1 15.6%*49
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INEL L

FARAR A B LA, TUG, # bmiB R S{ThE, ¥ SmEARSITRE, # B, kg
MER] F# () (n = 4266) (n = 4266) (n = 4266) (n = 4266) (n = 4266)
=AlE Ml RANME FHME ERNE Ml XANME  FHE  EBEME FHE
65~69m% (335) 79.3+£42.5 5 6.4+28 3 3.7£0.7 3 2.8%£0.6 2 27.8%8.0
P 710~T745% (1182) 59.4+£40.6 5 6.5f15 3 3.6x0.7 3 2.8%£0.6 3 271.3%79
75~T79m (938) 59.7x44.7 5 7120 3 4.0%0.8 3 3.1£0.7 2  244%71
80~ (1811) 33.8+£36.7 5 8.3t26 3 45+1.3 3 3.6£1.2 2 215%6.1
(n =1087) (n =1087) (n =1087) (n =1087) (n =1087)
65~69m (93) 72.9+143.6 5 6.7£48 2 3.8£1.0 3 2.8£0.9 2 37.8%t6.6 3
P 70~74m% (392) 53.4+£37.0 4 6.3£1.4 4 3.6x0.7 3 2.7£0.5 3 36.0+x6.2 3
75~T79m% (218) 64.2 £45.0 5 6.6t1.7 4 3.9+£0.7 3 2.9%0.6 4 34.0£5.7 3
80/~ (384) 34.4+£359 5 8.0£3.0 3 45+1.6 3 34+t14 3 29.0x6.6 2
(n =3179) (n =3179) (n =3179) (n =3179) (n =3179)
65~69m (242) 81.7+£41.9 5 6.3x1.2 3 3.7£0.6 3 2.8%£0.5 2 240x42 3
" 70~74% (790) 62.4+t41.9 5 6.6t15 3 3.7x0.7 3 2.9*0.6 3 23.0x42 3
75~T79m (720) 58.3t44.6 5 7321 3 4.0=x0.9 3 3.2%0.7 2 21543 3
80~ (1427) 33.6£36.9 5 8.4+24 3 45+1.3 3 3.6x1.1 2 195+41 3
A, EATRSHE  NETFRIY = 2 TIIVE AR (BRIAFEIAFIT) TR HEERTEIC,
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EZN NEER L
Eapetiss TR T IR pfE s TR pfE
FARR A B LB fE], #2 46.8 447 475455 0.305 FARR A AL L FfE], 53.3+44.6 547456 0.099
TUG, # 9.1£4.9 9.0x£4.9 0.080 TUG, # 1.7x2.3 7.5+x2.3 < 0.001
bmiBE 1T A, # 47x2.1 4.8+£2.2 0.504 bmiBE SH1THEHE, # 42%+1.0 41x1.1 0.682
bmix K& ITHEE, # 3.8£2.0 3.9£2.0 0.129 bmix K& {THEE, # 3.3£0.8 3.3%£0.9 0.348
1B, kg 22.6*6.9 22.5+6.9 0.051 1B, kg 23.7£6.7 23.5%6.7 0.008
BIAR A B2 85T 1 n = 1359, TUG : n = 1451 XI5 D & % &R TE BEER A MISZAIBSR : n = 1112, TUG : n = 1137 S0 H BHHUEE
SmBE ST : n = 1438, SmEBASITRERE 1 n = 1430 SMBESTER (n=1121. SmBASHTER :n=1114
B n=1454 BH n=1134
= AEHL
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ﬁxﬁﬁ?éa)ttili FHHE - 193.1£63.9

B Ik 1 B Ik2

Eapealiss # T IR pfE s TR pfE
FARR A B AL AFE, 12.9£23.2 11.1+19.1 0.230 FRER A IS AL RS, # 7.3x17.6 7.3x16.3 0.962
TUG, # 12.9x4.4 12944 0.783 TUG, # 17.6x9.4 17.7£10.0 0.962
bmiBE 1T A, # 6.2%+1.9 6.3x2.1 0.372 bmiBE SH1THEHE, # 8.4+4.3 8.5x4.4 0.510
Smix KBS ITRAE, ¥ h4x2.1 54x£2.72 0.831 bmix KT HE, ¥ 71.2%x4.3 1.3%£4.4 0.556
1B, kg 18.7x6.1 18.5+5.7 0.488 1B, kg 18.3+6.8 18.3+6.6 0.911
BRRR A ISR © n = 102, TUG tn = 106 WHIEDH BHEE BIRR A BITZACBSRS © n = 97, TUG :n =112 SIS0 B 2 HE T
SmEHE ST © n =107, SmE AT : n =107 SmBESITRE (n =114, SmEASITER :n =113
BH:n=111 BAH:n=114
EXIE] EXIR2
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0
BEERH B AR TUG SmiEE BATHERT SmEA B TEER BRERH B AR TUG SmiEE ST SMEB A TR Bh
mEIAES w IR THS

m R n T
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BNEL 2

Eapetiss 1T B pfE

BAAR A RISz R, 7 31.5+38.5 24.7£32.2 0.188
TUG, # 13.4£6.5 13.7£5.7 0.629
bmid B &~ 1ThEE, # 6.6x2.4 6.7x£2.7 0.358
bmix AS{THE, # 5.1x1.9 53x2.1 0.135
1B, kg 18.6£6.5 18.9+6.3 0.356
BRRR A BISIAIRSRT S n = 17, TUG & n = 65 SIS0 H HHRE
SmBESITIFME  n =65, bmEASHITRRE n =65

BN n=064
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